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12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of sixty (60) multiple-choice type of questions,

out of which the candidate would be required to answer any

fifty (50) questions. In the event of the candidate attempting
more than fifty questions, the first fifty questions attempted
by the candidate would be evaluated.

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

[¢)) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(1i1) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Paper 1
gyurent I

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : (1) This Paper contains Sixty (60) multiple choice questions, each question
carrying Two (2) marks.
(2) Attempt any Fifty (50) questions.
Gor : (1) A RAUGRhd |6 (60) gae Tvd foel oTgd Uoie WeAen | (2) 9
3R,
(2) HIER T (50) TEART IW fo@

1.  Which of the following will complete | 1. T;ﬁaﬁaﬁ FIUA qAE AT O R ?

the series ?

17, 23, 37, 53, ........ .
17, 23, 37, 53, ........ .

(A) 61
(A) 61

(B) 59
(B) 59
(C) 73 (C) 73
D) 71 D) 71

2. Which of the following will complete | 2. qEieaen! wIvIaT waid Soft qui i ?

the series ?

EG, IK, NP, .......... AC
EG, IK, NP, .......... , AC
(A) RT
(A) RT
(B) TV
(B) TV
(C) SU (C) SU
D) SV (D) SV

3 [P.T.O.



In a code language the word
‘CHENAT is coded as 49615210,

then what is the code for the word
‘SANGLT ?

(A) 2021581310
(B) 202147129
(C) 201158139
(D) 202148128

Which of the following shows the
correct relationship among players,
Kabaddi players and Football
players ?

(A)

.(0)0

(®)

(D)

JAN - 00118/I—D

THT gishfaw asig ‘CHENAD &1
49615210 315 371 TdAfget, TR = vmod
‘SANGLY @ 3= & fafear e ?

(A) 2021581310
(B) 202147129
(C) 201158139
(D) 202148128

JRITUhl IV STl CBg, FoSS]
Tlealg MU edlel Warg AT A

@ Ty SrEfad ?

(A)

.(0)0

()

(D)




If Football is lighter than Tennis-
ball and Basketball is heavier than
Tennisball, but lighter than hand-
ball, then which is the correct
ascending order of balls in terms of
weight ?

(A) Football, Tennisball, Basket-
ball, Handball

(B) Basketball, Handball, Tennis-
ball, Football

(C) Football, Tennisball, Handball,
Basketball

(D) Tennisball, Football, Basket-
ball, Handball

Based on the following statements
which of the following conclusion(s)
given below follow(s) ?

Statement A : All animals are
intelligent and all intelligent things
are human beings.

Statement B : Some children are
innocent.

Conclusion I : Some animals are
human beings.

Conclusion II : Some children are
not innocent.

(A) Only I

(B) Only II

(C) Both I and II
(D) Neither I nor II

JAN - 00118/I—D
S pediel SEeieTia gefeht SR S0

o

hedid Hueiauel Se 3g, W

EHTIET BT 3. TR SSMITUR wgdl

Tedl HH w9l WA ?

(A) Tedld, fyaie], aRehesiicl, gesiic]

(B) dR=hesiid, geaiid, SHyale, hedra

(C) hesia, 2 ata, g-esiicl, aRehesiic]

(D) Fodrd, Hesiel, TReheald, grasiic]

qeiel faemr=n seam sromn(q) e
e/ feema ?

faemT 31 : wd wroft qfgam smea smfor
gd gfgam st e TR

faam & : wE g foum eTRa
frerel 1 : @I 90N AEE STTRA
fsRel 11 : & go famg 7@
(A) w1

(B) e II

(C) 1 eufor 11 et

D) I 3 II S=E R

[P.T.O.



The following table presents the
number of families in a village
earning a certain level of monthly
income from their factory job in the

nearby town :

Number of Income band

Families (in Rupees)
42 5,000—9,999
40 10,000—14,999
36 15,000—19,999
18 20,000—24,999
5 25,000—30,000

Which of the following statements
are correct ?

() Approximately 54% of the
families earn between
Rs. 10,000 and Rs. 20,000.

(7)) There are 70% families who
earn more than Rs. 10,000.

(zz1) A family with highest income
earns Rs. 29,500.

(7v) Median income is between
Rs. 10,000 and Rs. 14,999.

(A) (1), (1) and (7f)
(B) (i1, (i) and (1v)
(C) (9, (i) and (iv)
(D) (1), (777 and (1v)

7.
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Jeicl qeReTd STelesoA STBAIe ShRETeR

ST U Tehl Wedrdia fafay

(aV AR o hd [ (aV
3T T HedrE qea faell R

gt I e
| B k (TUATHE )
42 5,000—9,999
40 10,000—14,999
36 15,000—19,999
18 20,000—24,999
5 25,000—30,000

o o n AN A = o
Al Hlledld®wq Lflddlcten] onlVidl

faum @ MR ?

(1) WTERVE: 54% HeAr 3@ 10,000
20,000 TYI=AT ST IR,

() 70% Fzar= 341 10,000 TIATIET
SR T

(717) TR 3T STHUAT SHeaT I

29,500 TIY TR

(7v) SCa=MEl HEAT 10,000 o 14,999
T T IR,

(A) (3, (1) 3Tfon (4id)
(B) (1), (if) 3T (4v)
(C) (d), (i7) 3T (v)
D) (2, (i) 0 (4v)




The following are the number of
cases filed under Sec. 498A of
Domestic Violence Act during the

month of December, 2013, 2014 and

2015 at three cities, namely Pune,

JAN - 00118/I—D
UEidl TRAT higfadh fEHMR HTIe]

(heTH 49837) AR 2013, 2014, 2015
1 FqUHEd, O, BeAEE SO S A
T TeUHE) T e TeRTunE
He oot ome

Hyderabad and Jaipur : a5 Tﬁ FaETe P
Year | Pune | Hyderabad | Jaipur 2013 | 40 50 30
2013 | 40 50 30 2014 | 50 55 50
2014 | 50 55 50 2015 | 50 60 80
2015 | 50 60 80 it Aifediee qEtedent 1ot faem

Which of the following statements

are true ?

(1) Maximum increase occurred in
Jaipur from 2014 to 2015.

(z7) Minimum increase occurred in
Hyderabad from 2013 to 2014.

(111) Average increase for the period
together is lowest in the case of
Hyderabad.

(7v) Minimum increase has occurred
in the case of Pune from 2014
to 2015.

(A) (1), (1) and (7f)
(B) (i1, (i) and (1v)
(C) (1), (i) and (iv)
(D) (1, (i) and (Iv)

A 3 ?

(/) TTEA FTATHT GHIOM=A T&Ad
HaifYeh oTe SR 49 2014 1 2015
T e

(i) TREA AT YehRIom=a1 TEdd Tdid
HH 1@ geerE 49 2013 § 2014
A e

(ii7) < I TOE e fo=R S
TEUERHE e STeiedl Teh UMl
&I o Helld il 3.

(iv) TTEd e FehioT= H&d Faitd
! o1 g0 A% 2014 d 2015 TR
T

(A) (2, () = (25

(B) (i), (i) 0 (iv)

(C) (2, () 3V (1v)

D) (1), () (0 (v)

[P.T.O.



10.

Pass percentage of a school for
six consecutive years starting
from 2003 to 2008 are 45, 56,
42, 61, 55 and 52. If the ratio of
students who appeared for the
exam in the years 2003 to 2008 are
2:3:4:3:2:3, then the pass
percentage of the school in six years
together is :

(A) 51.5%
(B) 47.5%
(C) 55%

(D) 42.5%

A survey conducted among 480
students of two colleges C; and C,
regarding the type of computers they
use, resulted in the following table,
with partial information. It is known
that the ratio of number of students
of C; and that of C5 is 9 : 7 :

College|Desktop|Laptop| Both |None
C, — — — 15
Cy 120 — 30 —

Total — 195 70 | 40

How many students of college Cq
have at most one system ?

(A) 195
(B) 90
(C) 255
(D) 315

10.

JAN - 00118/I—D

THT IMMesdrad 2003 @ 2008 AT
RICALTde IOl THRhaR] STIehH
45, 56, 42, 61, 55 70T 52 73N TE.
2003 T 2008 T 1A AT T ST
fommeta y9O1 2 :3:4:3:2: 3
1Y AT Tl o=l Whixd <ot

oA fordl 3@ ?

(A) 51.5%
(B) 47.5%
(C) 55%

D) 42.5%

Cy MU Cy A T HeloEerHeie
TR 480 faeneafa 4 aTwa ST
TATUTShT=A WehITeTeId FAT0T ShivdTd 3Tl
N TGN TMedl Serel shral Hifedr
qelel qeRaTa gRifal 378, C 37T G,
1 Herfoanedde famneats g\ 9 : 7
R :

TEIfenea | SWheld | oueid | Sa [ehiuTdral
e
c, | — — [ =1 15
C, | 120 | — | 80| —
ThUT — 195 70 40

C, werfeErnermde fed formmeff S&ita

SRd T YHRA U A 2
(A) 195
(B) 90
(C) 255
(D) 315




Direction (Q. Nos. 11 and 12) :

In the following table, the number
of students who passed in four
subjects, English, Hindi, Marathi
and History in divisions A, B and
C of standard X of a particular

school is given :

Division |English [Hindi | Marathi | History

A 29 30 38 25
B 34 32 36 30
C 26 34 31 29

11. What is the possible maximum

number of students in Division B,
who passed in all the four

subjects ?
(A) 34
(B) 30
(C) 36

(D) 26

JAN - 00118/I—D

o (W @, 11 3ufur 12)

THT IMB=AT AT T@IAT=al oA
71 ferRimed il getean forenesi= wen
T dRame feft o e

qhet | gusht | | wd | sfaera

A 29 30 38 25
B 34 32 36 30
C 26 34 31 29

11. < IMexital B qoheldiel el T Sl

AT Taeneat=i T Srkdid S fahd
Y TR ?

(A) 34
(B) 30
(C) 36

(D) 26

[P.T.O.



12.

13.

14.

The maximum possible number of
students who passed in both Hindi
and Marathi in three divisions

combined is :
(A) 93
(B) 96
(C) 105

D) 111

Identify the incorrect pair from the
following :

(A) .ttf = font file

(B) .wav = audio file

(C) .jpg = graphic file
(D) .exe

= exclusive data file

Find the correct pair from the

following :
(A) 1 Kilobyte = 104
(B) 1 Megabyte = 108

(C) 1 Gigabyte = 1012

(D) 1 Terabyte = 101°

JAN - 00118/I—D

12. e goheumed fagd &t a widt =

13.

14.

el fooamed Sl werean fammeat=i

& S S fohdt 1 ¥Rd. 2
(A) 93
(B) 96
(C) 105

D) 111

Tl e Sel sieen
ttf = B2 HEA
wav = Jifesl (&) FEd

(A)

(B)

(C) jpg = Wik (fa3) wEa

(D) .exe = TFIESR S HRA

TR 3Tgeh Siel siieen :

(A) 1 freerEe = 10*
(B) 1 #ege = 106

(C) 1 rmerge = 1012
(D) 1 XEEe = 1015

10



15.

16.

In the context of internet what is

the full form of ftp ?

(A) formatted transfer process

(B) formal texting process

(C) file transmission procedure

(D) file transfer protocol

The principle that internet service
provider and government regulators
should treat all data on Internet
as of same importance and not
discriminate or charge differently
by user, content, website etc. is

called on :

(A) Digital equality

(B) Digital democracy

(C) Net priority

(D) Net neutrality

15.

16.

JAN - 00118/I—D
ST HeHid ‘Thed (ftp) A HaH
foeR &9 SHivd ?
(A) WIS IR TET
(B) wiHa R AEH
(C) ®EA HHTH HESR

(D) EA BT Rl

‘Feeall Hd Hifgdial (€21) 32 Tl

SRR o TR MmN qrEd
HEwS TS & T A9k, ST, SForEe

affe et SR Y9 e 9 a1

TTeoTes Y[och SAThIE T4’ AT qHIS!
SUSIA IO G ATRA 2

o

(A) Sifsled saarfae

(B) EifSea 2HImH

(C) 7 9l

(D) 72 Jferet

11

[P.T.O.



17.

18.

Which of the following is the correct

chronology of internet facilities ?

(A) Amazon, Google, Snapchat,

Facebook

(B) Google, Facebook, Amazon,

Snapchat

(C) Google, Amazon, Facebook,

Snapchat

(D) Amazon, Google, Facebook,

Snapchat

Identify the correct pair from the

following :

(A) Amazon — Sabir Bhatiya

(B) Google — Sergey Brin

(C) Twitter — Julian Assange

(D) YouTube — Jimmy Wales

JAN - 00118/I—D

17. 32@Eda glagr=an @a wiasd

HIOTAT 2

(A) &M, T, Faee,

(B) e, hyd®, 3THAH, Tq=de

(C) T[T, STHAM, HydHh, T

(D) T, T, HEgs, o<

18. Y@ dArE SEl e

(A) WgH — "R wifean

(B) T — @ fom

(C) THR — FfAsH TS

(D) Fega — TSH1 ™

12



19.

20.

21.

Which type of waste is classified as

hazardous ?

(A) Chemical
(B) Household
(C) Commercial
(D) Agricultural

.................................. is a major source

for fecal contamination in water.
(A) Domestic effluent

(B) Chemical effluent

(C) Steel plant effluent

(D) Pharma industries effluent

is mainly

19.

20.

JAN - 00118/I—D

qEICTUeh! hITl Tl BIehReh WehRId

IS LTI STl 38 ?
(A) TEER

(B) ®rret

(C) = Heherd

(D) rirciter

it oA 0T RN 3T
(A) A AR FrEaroh
(B) ™I HEHTol

(C) &Ee daR BT e
FrSqTon
(D) Ao RO HREAE STt

.............................. 21. g(_é\lmaq';\l qr;\|U|(€,|| qlﬂﬂw @la{‘q,.]q{w|
responsible for depletion of ozone in i _— - a2
the stratosphere.

(A) FARIFSRIHE
(A) Chlorofluorocarbon

(B) A
(B) Chlorine
(C) Sulfur dioxide (C) TR STAHFLS
(D) Carbon dioxide (D) e SEFIES

13 [P.T.O.



22.

23.

24.

A major initiative undertaken
for water conservation namely

“Jalayukta Shivar” in :
(A) Maharashtra

(B) Orissa

(C) Bengal

(D) Rajasthan

Which of the following resources is

renewable ?

(A) Coal

(B) Petroleum
(C) Natural gas
(D) Forest

Socio-economical impact due
construction of multipurpose dams
in river vallies is mainly concern

for :

(A) Forest loss
(B) Water quality
(C) Seismicity

(D) Project affected people

JAN - 00118/I—D
22. UIOATH FHRU HITATEIS! ' TAgaH
RER" & ASE e TS S

Iq I ?

(A) HENTS
(B) 3TRIem
(C) se

(D) TSTEA™

NN

23. YEICTUh! IV HIEF 1 T HRUATSI]

e ?

(A) Hiesdl

(B) ¥

(C) wgfifer =g

(D) STA

24, T WA AHUAN JUTAT EROMHoS
TSR 9 YR YHE HEAd: ShIoTer
STl ?

(A) SETeTEl 8™
(B) Hruam= I[oTer

(C) &9
(D) foenfya el AFTRS

14



25. Educationist and theirs special
educational contribution — choose

correct :

(Y) Louis Braille (1) Handicapped

learners

(R) Helen Kellar (2) Deaf learners

(L) Thomos Edison (3) Dumb and

Deaf learners
(W) Lal Adwani (4) Blind learners
(A Y—(2), R—(4), L—1), W—(3)
(B) Y—3), R—(2), L—(4), W—(1)
C) Y—4), R—(3), L—(2), W—(1)
D) Y—(2), R—(1), L—(3), W—(4)
the

26. Regarding Maharashtra

University Act, 1994 which one of
the following Articles suggested a
various rules of admission for the

senior college ?
(A) Article 65
(B) Article 66
(C) Article 67

(D) Article 68

JAN - 00118/I—D

25. frerorasy amfor o faei fRrermdie
IMEHE — FEH e

(F) 9 5

(1) 3T STeFAT-
et

(2) HufafeR
AT

(3) HehaTER 0T
HUTSR
S pribitsic

(4) FY-STTIT-
et

(A) F—(2), +—4), 9—(1), 3—(3)

(T) B HeR

(&) 9mg wfead

(9) o srsaroi

(B) 3—(3), +—2), ©¥—(4), 9—(1)
(C) 3—(4), T—3), T—(2), 9—(1)
(D) 3—(2), +—1), T—3), 3—(4)

26. wENTse fommdis wmEcl, 1994 qER

qRradeht Har wanrad afss
HRITSTETeTATETS! Y= 94 i shefed
Rd 2

(A) =cH 65
(B) <hetH 66
(C) =et® 67

(D) =i\ 68

[P.T.O.



27. Yoga Education Mission is related

28.

to :

(A) Medical Education

(B) General Education

(C) Technical Education

(D) Professional Education

‘Abhijeet goes to singing class.’

Which type of education is this ?

(A) Formal education

(B) Informal education

(C) Non-formal education

(D) Technical education and non-

technical education

28.

JAN - 00118/I—D

(A) dITHRT

(B) HoETH=

(C) IH

(D) AEH TS

‘erfafsa AT S gen STEl.’ ®

HIV YRR Feqo A ?

(A) M= feeor

(B) wrEfteR foregon

(C) =i femeroy

(D) difser fRiaor 9 sraifer e

16



29.

(Y)

(R)

(L)

(W)

Match the List I with List IT and
select the correct answer from the
group given below :

List I List II
(Universities) (Locations)
Jagannath (1) Tirupati
Sanskrit
University
Rashtriya (2) Darbhanga
Sanskrit
University
Kameshwarshing (3) Puri
Sanskrit
University

Gurukul Kangari (4) Haridwar
Sanskrit

University

(A) Y—4), R—(3), L—(1), W—(2)
(B) Y—(2), R—(4), L—(3), W—(1)
(C) Y—1), R—(2), L—4), W—(3)
D) Y—3), R—(1), L—(2), W—(4)

JAN - 00118/I—D

29. Ye fectedn ==t 19 A€ 11 Terdial 31<leh
ERREEIIE
RICI | RICU I
(ferammiite) (FT)

() STY GEHd (1) faeudt
foremdts

(V) T Hed (2) R
IEEILIE)

() HHTRET §%pd (3) T
fommdte

(d) Toshel el 4) 3R
TFa foamds

(A) F—(4), T—3), T—(1), 3—(2)
(B) 3—(2), +—(4), 9—3), 3—(1)
(C©) F3—(1), +—2), T—(4), 3—(3)

(D) F—(3), +—1), T—(2), 3—(4)

50. What is the full form of ICSSR 7 | 30- ST THTHSM. (ICSSR) =1 i
foear @ ?
(A) Indian Council of Social Science . . . .
Research (A) sfeam wifae 3w HeTa 9w -
(B) Indian Council of Space Science (B) Efeam witae 1w w9 9w R
Research ©) 3 O oy w—
(C) Indian Council of Scientific afe frgd
Search and Research . . i .
(D) Indian Congress of Space and D) Fers N e
Scientific Research
17 [P.T.O.



31.

32.

33.

Out of the following, which is the

correct statement ?

(A) Teaching is a dependent

process.

(B) Teaching is an independent

process.

(C) Product of teaching must be

learning.

(D) Learning is dependent upon

teaching.

is very important

in the process of learning.
(A) School atmosphere
(B) Infrastructure

(C) Previous knowledge
(D) Teacher’s personality

............................... results in effective

teaching.

(A) Classroom discipline

(B) Punctuality of students

(C) References used by teacher

(D) Clear communication

31.

32.

33.
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e FOR fAUE ST o 2

(A) & & STl YA eTR.

(B) A9 € IRl kA o7,

(C) ATIATE Wwidd 1eqdd 31T

qrfest.

(D) 31T STEATTAER SAAcad 3T

(A) AT STTEo

(B) 9rEYd gferen
(C) eI

(D) forererra =aforva

IR e 3Te9
Hidd 3T,

(A) aFffr
(B) foemeaf=n dersfitgon
(C) forerpm oo ggy

(D) &I HAT
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34.

35.

36.

Effective teacher ......cccooeeeveeeeen.... .

(A) allows students to ask questions

(B)

completes syllabus within time

()

provides a variety of learning

experiences

(D)

explains everything to absent

students

............................ is not a
characteristic of good teaching aid.
(A) It should be very small

(B) It should be accurate in every

respect
(C) It should be easily portable

(D) It should be upto date

If your students have problems
related to learning your subject,

then the best solution is .............. .
(A) increasing homework

(B) supervised study

(C) diagnostic teaching

(D) frequent assessment

35.

36.
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(A) forneat® v foremuar=t g 3@
(B) Uiedshd daxd Ul

(C) afgeaqul stem svE Qo
(D) TResR feneafn wd et THmgA

HYAN (teaching aid) CINES S IF
(A) § U TEH 3HE
(B) 1 §d g 3T M

(C) d Hesqul Weh foerTomgd gH=a

foshToft e =M@

(D) d TIIEd 3T

SR qHen famneata, geEen foasEr=n

ST Feifed TS0 el aX 339

(A) YIS arefa
(B) wdafaa 1o
(C) oM 3remA

(D) INER AT
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37.

38.

39.

The phrase “...................

personal attention to each student

giving

individually is an

example of :

(A) succinctness
(B) circumlocution
(C) wordiness

(D) tautology

A well-written

attracts potential readers and
facilitates the cataloguing of a
research report in an electronic

database.
(A) title
(B) summary
(C) abstract
(D) synopsis

A proposal that may provisionally
serve as a starting point for further

research is known as a ................. .
(A) hypothesis

(B) theory

(C) model

(D) principle

38.

39.
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AT foet Seet icic N
...................... 3 s A

(A) wfegar

(B) wRafea Sreft

(C) VTSR

(D) FHEMILHRT

i Y

AMFE A d A aUeX HINEA

STEATCATE TTUIEh T STTHR-ATHUT AT
TIR Il STANT Beal.

(A) TSR
(B) G&9
(C) =

(D) TEE

S YETE AreYI] FTEEUE qEd
TeNEEE SRY fog TUE X @l
.............................. 31@. w.
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40. A is used to show | 40. 3Mhe fagwqul IFifauamEdt
exact values. = I 2l
(A) pie chart (A) dxhR ECEl
(B) table (B) =g
(C) bar diagram (C) TfUeeh! 3Tl
(D) dot plot (D) fog i@

41. Which of the following is the most | 41. wemEn foxga ymeta fos@M e
recent and dependable source of WWW%H%W
information on a broad scientific N s
topic ?

(A) e T
(A) Research paper
(B) Bibliography (B) wewfie-=f
(C) Review article (C) HHIeA=F e
(D) New textbook (D) A" WehI3Td hifeh q&ieh

42, The ..coooerereereiieeeiienenns is the best | 42. wemEn fHadwifasT= YN erwIAE!
indicator of the total importance of HAHI HETd SRIAUIR HalaH o
a journal to researchers. | e .

(A) Garfield quotient (A) TRBICS ATHA
(B) Impact factor (B) qua fidemen
(C) Eigen factor (C) ST Tk
(D) gindex (D) SH-YFHh
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Answer Question Nos. 43 to 48
based on either the English

passage or the Marathi passage:

The distinction that modern artists
and art critics make between the
arts, on the one hand, and crafts,
on the other, was foreign to classical
antiquity. Both arts and crafts were
regarded by the ancient Greeks as
“productions according to rule” and
both were classified as fechne, which
can be translated as “organized
knowledge and procedure applied for
the purpose of producing a specific
preconceived result.” This concept
runs directly counter to the deeply
ingrained insight of modern
aesthetic thought that art cannot be
reduced to rule, cannot be produced
in accordance with pre-established
concepts or rules, and cannot be
evaluated using a set of rules

reducible to a formula.

with its
that the

The Greek concept,
attendant notion
appropriate criterion for judging

excellence in both the arts and the

JAN - 00118/I—D
U9 oh, 43 T 48 ¥ Y faerean sararer

e dd. guSitdrear fewar
WIS SATITaiel o=t Sa’

ol o

Mefsir= foan THden Tk e

. IUA T TIHS Wem qgF fE

aifor w@ra= & qed  WHTSISaHTd

TSAUAT HIYA TR, TR = fHehT

gIl. SATATd WREIYU e AT
AN Sofe 3TTE, e fHesd FHmT
I FHAMAG SR a = 2.
A TR WSt ‘sifEm’ § A

3@, AT = TET Gt

ARG MENaRT=a] WS
AT TR, 3TN YR =l SAfEdn
TGOS shdles hEU, €A1 fehal HI&T™

e TH d TH GEIS qod 2.
g qewg @ @A gh. e

SEINICEIRERETE IR IS (I BRIk |
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crafts was the “perfection” of their
production, predominated until the
middle of the eighteenth century,
when the French aesthetician
Charles Batteux heralded the idea
that what distinguishes the arts
from the crafts and the sciences is
the arts’ production of beauty. This
idea lasted until the beginning of the
present century when some critics
argued that “beauty” was a highly
ambiguous term, far too broad and
indefinite for the purpose of defining
or evaluating art, while, on the other
hand, many artists expressly
repudiated “beauty” because of its
too narrow associations with an
outmoded view that art was
beautiful and therefore should not
be evaluated or analyzed, but
should merely be appreciated. Since
1900, a large number of definitions
of art have emerged, each of them
covering a sector of accepted creative
and critical practice but none of
them, apparently, are applicable to
the whole of what is accepted as art

by the art world.

JAN - 00118/I—D
HEel WA A0 aed. A1 HHISI
HIETERN, ArfSeh qrsyHt, S S

aHE SR STedld JEe dhed 39,
defict HHISTEIEHRI Falg SRR Sl
AT FHSA RO ST AT el
S T YROMH 2awd, d & Sl

W A IET Bad AR, U HHEs

FWE AU T AETE UURd Bid. &
YR SMeEE T T SR
gred giar srfur wrEefas s
RN TRRYH  HL0ATd qHl
FIve fHeg Sredll, SR M= o Bl

‘o B ARl Ths SIS HeM ek
3T, TSRO Y=g SO 318’ 3T
AT I Al kel Bl YA

Terdten fo=a TSI ANTon=a1 STesl
TSt qRE TG Hestl, € we oMfdieR
THAE AT B, 907 ST FHGETS!

JATT headgR SURESl R0l HF
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43.

44.

45.

According to the ancient Greeks,

arts and crafts were :
(A) the creations of divine power

(B) the creations produced as per

certain set rules

()

foreign concepts in arena of

culture

(D)

hollow inventions of the artists

and the art critics

Ancient Greeks considered the arts

and crafts to be :
(A) analogous to each other

(B) distinct forms of creation

()

the creations leading to human

contentment

(D)

the classical concepts meaning

production

As per the modern aesthetic view :

(A) art is an organized knowledge
and procedure that leads to

some results

(B) art cannot be governed by rules

()

art can definitely be result-

oriented

(D)

art is the essence of pre-

conceived ideas

43.

44.

45.
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SAfEdr A0 W= TS 9T §

N ~ N N
HgTe qod 3THcl; d hdd HHARd

AT TR STaeed T9d ¢

(A) TTE e, gAY I

(B) gatd s{eR, Iad I

(C) HYul faum s

(D) wqut faem =

AT § Hhdes HILTY Tk HIEH 3THA;

T IS i RUER e W
e

(A) qatd =&, 3T SR

(B) Yot a{eR, Y I

(C) dyui fau™ =

(D) wyoi faum s

meffen wa few Afesht @01 =oS
(A) GrISIeR geened areu

(B) Tu~i=n faem s
(C) TUFT JEfyd o
(D) HEHE deien ROl
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46.

47.

48.

To judge the excellence in arts and
crafts, perfection was the primary

criterion for :

(A) the modern artists
(B) the modern art critics
(C) the ancient Greeks
(D) the art lovers

Charles Batteux believed that it is
‘arts’ production of beauty’ that

distinguishes :
(A) the arts and crafts from sciences
(B) the arts from sciences

(C) the arts from the crafts and

sciences
(D) the arts and sciences from crafts

The author of the passage tries to
suggest that :

(A) there is a lack of all-inclusive

definition of art

(B) beauty can be the basis of

evaluation of art

(C) art can be judged by the

opinions of its lovers

(D) the ancient concept of art is
more acceptable than the

modern one

46.

47.

48.
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M= Hd FHSTEEHRIAA Haerda! .

(A) TfYfer TR SHE0 AETIS

(B) ¥xd o€ B0 ATEYIh

() fafaereata fasrgar 3t 1A

SICERED

(D) FEEEITHHE G 8ol SAavas

FHATGA Tehserar wraar fato g4
IeAt, a0 FHGX FIEI=l YTOME!

ISR
(A) |qui faum sl

(B) Wl foum =%
(C) gated skeR, Iaud =9

(D) Y SR, qaiE I

IqT IATIATETS! AT THUS  IMSiah
HIUd ?

(A) FHAT : Th HHISR oo
(B) eAfedn smfor geet Sftaq
(C) 9= He<d

(D) Hemd |EA
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49.

50.

Which of the following is the correct
full form of CBFC in the context of

Indian films ?

(A) Central Board of Film
Certification

(B) Censor Board of Film Content

(C) Central Board for Film
Censorship

(D) Central Board for Film
Classification

In the context of journalism, what

is meant by ‘Page 3’ news ?

(A) Hard news about politics,
society etc. published on Page

No. 3 of a newspaper

(B) Soft stories on social and
personal lives of celebrities and

stars

(C) News about rape, murder and
other crimes published on Page

No. 3 of a newspaper

(D)

Investigative and analytical

news about corruption
published on Page No. 3 of a

newspaper

49.

50.
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A AR fo=r wivmr ?

(A) T=d aI€ 3w fhew Gfefthany™

(B) ¥R &I 3% fthed He=
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oo~
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(B)
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YIRS Haferd Inerss a1
fageTsTeHs STawT S gRIaSTAl

[AF=a qHeR SM9edl SdTd

(D)
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51.

52.

53.

In the
generated (typed) text, identify the

context of computer

odd non-verbal clue from the
following :

(A) bold
(B) emoticon
(C) italic
(D) underline

From the perspective of the
advertiser, what is the ultimate
criteria of success of advertisement
as communication ?

(A) The ad is remembered by a

large general public

The ad
internalized by the target group

(B) is accepted and

(C) The ad is aesthetically liked by

a large general public

(D) The ad is discussed by the

target group

A teacher who considers ‘Knowledge’
as existing primarily in the students’
ability to interpret, generally tend
to emphasize more on :

(A) Powerful lecturing
(B) Transmitting information
(C) Presentation

(D) Discussion and negotiations

51.

52.

53.
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qreRTgR fafea (Sfea) A=

HHid gea M= fa= S=dia oa
I @l :

(A) 3ZF (dee)

(B) yafas (gHIfCHM)
(C) Ty 31eR (3Tfae)
(D) sTeRfEd (3TsTeET)

STEUAeRI= gieshMgA SMfeld Tk
YT WAUA BI0ATE] Gaied
HIOTAT ?

(A) TS HARIERY SR & Sl
SIS

(B) 1&g e o Shfedd SRl o
AT shedl

(C) T HAHTHRY STHHa i Sl
Yedemeagsea sagat

(D) A& T T SMfEdier == hall

‘M T qEEd fameat=an staEned
HTRUATAT &THdd S8l Iqd’ TH
AR f¥TeTeh JEietden! heMaR Sd ¥R
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(A) T SATAM TR

(B) Hifedt Haft H{vgmeRr

(C) HE{iehIomeR

(D) ==l 9 3TUHER FERIET
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54.

55.

Denis McQuail defines communi-
cation as ‘a process which increases
commonality — but also requires
elements of commonality for it to
occur at all.’” Which of the following
cannot be a logical, reasonable
inference of this definition ?

(A)

Communication depends on

culture located at various levels

(B)

Sender is more important for
the process of communication

Communication introduces a

(®)

change in sender and receiver

(D)

Communication creates a

shared symbolic environment

Let fbe a mapping from X = {1, 2,
3, e , 50} to itself such that for
m, n € X, m < n implies that
fAm) < fln). Then which of the

following is true ?

(A) There is m € X such that
fm) = m

(B) For every m € X, we may have
fm) = m-1

(C) For every m € X, we may have
fm) = m+ 1

(D) For every even m e X, we must

have fm) = Em

54.

55.
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S8 Hood HRTIATE AT JEay Tl
HIAA — EJAYT B RN SR
WA AU Uiehal 3T, T Heord
ot ufsren wed JvAEEdE wHTeRda
ek STAYdSh STHArd.’ Il ATEAAT
TR TIEAedeh! SV STTHT dTfchehyu,
Juqu 79 ¥eRa AR ?

(A) oA ¢ fafas ardesaerial G&hdiak
YRS 3T

(B) HRUHEY Yok 7 3ifees Hexar
Tl

(C) Fage Yok o Tesk (fifaeed)
ST SrHEAE dga TSl

(D) A9 U TR famgiferd STeor
frafor s

feciedn £41 THE TS a1 TRE
HAX=1(1,2,3, ... , 50} I T
HES M AR I, Sk m, n € X,
m< n 3I¥A R m) < fn). TEAIHRT
Hivd faegm @& o 9 | ?

(A) THall m € X 3791 319dl &1
ffm) = m

B) WR&F me X TS fm) = m— 1
3 TRl

(C) Y9 me X U3 fm) = m + 1
3 YTkl

(D) IBF HHEEI] m € X 9Ial

Km):%quﬁ%@l
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56.

57.

A substitution takes a ‘word’ written
in the letters X and Y and gives a
new word by replacing each (old) X
with a Y, and each (old) Y with XY.
For instance, it converts YXY to
XYYXY. Starting with the 1-letter
word w, = X, we get new words
w1 =Y, wy = XY, wg = YXY and so
on with each w, . | obtained from
w, by applying the substitution. If
(/, m) is the pair with / = number
of X in wyy and m = number of Y
in wy. Then ([, m) = ........... .

(A) (21, 34)
(B) (34, 34)
(C) (34, 21)
(D) (55, 34)

In a group of people, every engineer
is a teacher, no politician is a
teacher, every lady teacher is an
Then which of the
following statements is not true for
the

(A)

engineer.

group ?

There is a lady politician who

is an engineer
(B)
©)

No lady engineer is a politician
There is no male engineer who

is also a politician

(D) Every politician is an engineer

JAN - 00118/I—D

56. X MUY I STERTIR il IR

57.

T eeg, (S[1) X = UEsit Y oo
9 (SF) Y UEst XY Sd dER el
STl Sereond YXY 9HA XYYXY
fHedl. S Eardy THA I8
wy = X A, T Tal IgHICTehT,
w1 =Y, w, = XY, W3=YXY<_>|%R&|E?[-
w, . 1 8 w, 9 fgeed FEHgEn
TR el Sl ST/ = wy, HEHiE X
= W 9 m = wy AHE Y = wen
FAA R (L m) = oo .

(A) (21, 34)

(B) (34, 34)
(C) (34, 21)
(D) (55, 34)

T ek FHRME, Yo SIfEan @
To1eteh 318, SIvATEl TSTehrRen & et
TR 9 yoaw ik & i ot

W FERH EieTishl v faem
T | ?

(A) TH TTHROT S & AN e
(B) HIUE St 31fFar TsrehRof el

(C) =hIoTTe! ges STHaa 1 TSTehron
Bl

(D) Yk TSIRRON 81 AMYIar 378

29

[P.T.O.



58. Female rabbits are either juvenile

59.

60.

or adult. Each month, each juvenile
grows to adulthood and each adult
female gives birth (on average) to
one juvenile female. Starting with
one juvenile female rabbit, how
many female rabbits will there be
after 10 months ?

(A) 71
(B) 79
(C) 81
(D) 89
1
IfX1=1,X2=1+§,X3=1+§
1 1 1
AIPCERURR ,XH_1+§+2_2+ -------
+ gn 1> then which of the following

statements is true ?

(A) 2 < x, <3, for n > 10
B) x, <
©) x, =
D) x, <

1.8 for every n
2 for some n
2 for every n

The number of positive divisors of
8000 is :

(A) 25
(B) 26
(C) 28
(D) 18
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58. TRl TH Thdl Uie T fohal qevamd

59.

60.

3TE 3T THS. T Aie-=ard aev 94 We
A 9 (UE) Tk Uie T 99 TR
AT T S <d. SR et Teh e

TS T 3T R 10 A=A A T2t
e fohdr ?
(A) 71
B) 79
(C) 81
D) 89
1 1
G1—{)(1=1,A’2=1+E,A’3=1+5
1 1 1
+2—2, ....... ,XH—1+§+2_2+ .......
1 Lo W o W .
+ a1 » W GEIAHRT I foum @
e ?
(A) 2 < x,, < 3, IIhl n > 10 HE
(B) x, < 1.8, Y% n WSl
(C) x, = 2, THIG n WA
D) x,, < 2, &% n HA

8000 I HEHH | SV THU &F
&

(A) 25
(B) 26
(C) 28
(D) 18
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